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LINEAR FUNCTIONS

1. Describe the line 3z = 12.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1qZrQR97ZvvA

2. Describe the line x — 3y = 6.

o Watch Video Solution

3. Write an equation of the line containing

3
(6,-5) and having slope 1

o Watch Video Solution



https://dl.doubtnut.com/l/_1qZrQR97ZvvA
https://dl.doubtnut.com/l/_f8E9qH4odyFN
https://dl.doubtnut.com/l/_W8SNv8m8q3T5

4. Write an equation of the line containing

(1,-3) and (-4,-2).

o Watch Video Solution

5. The equation of line l; is y = 22 + 3, and

the equation of line [y is y=2x-5.

o Watch Video Solution



https://dl.doubtnut.com/l/_Oq1LQe7wEDRM
https://dl.doubtnut.com/l/_VfOgEDesfUEv

5
6. The equation of line [; is y = 2%~ 4, and

the equation of linely isy = — 57 + 9.

o Watch Video Solution

7. Write an equation of the line containing (1,7)

and parallel to the line 3x+5y=18.

o Watch Video Solution



https://dl.doubtnut.com/l/_GRSbmnKOUOGJ
https://dl.doubtnut.com/l/_YxcecdXE3ehd

8. Write an equation of the line containing

(-3,2) and perpendicular to y=4x-5.

o Watch Video Solution

9. Given point (2,-3) and point (-5,4), find the
length of PQ and the coordinates of the

midpoint, M.

o Watch Video Solution

Exercises


https://dl.doubtnut.com/l/_KY3Dqk1W5n3S
https://dl.doubtnut.com/l/_K9FRxASrWzGZ

1. The slope of the line through points A(3,-2)

and B(-2,-3) is

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_A3J6r0e9vJcE

2.The slope of line8x + 12y + 5 = 0is

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eCk3TYrk08sY

3. The slope of the line perpendicular to line

3r — by +8=20is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GpFvZMan1L9P
https://dl.doubtnut.com/l/_mfsxYmNP5sM1

4. The y-intercept of the line through the two

points whose coordinates are (5,-2) and (1,3) is

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mfsxYmNP5sM1

5. The equation of the perpendicular bisector

of the segment joining the points whose

coordinates are (1,4) and (-2,3) is

Adx —2y+5=20

B.x —3y+2=0

Cdz+y—2=0

Dz =3y +11 =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_a4W4AIkgS4NR

6. The length of the segment joining the

points with coordinates (-2,4) and (3,-5) is

A 28

B.3.7

C.10

D.10.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RcbmiXju90o1
https://dl.doubtnut.com/l/_6WzH3HT3Wdxm

7. The slope of the line parallel to the line

whose equation is 2x+3y=8 is

A —2
5 3
T2
c 2
3
D2
"3
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6WzH3HT3Wdxm

